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1. The black aeroplane was going down because:

a) it has seen an airport to land b) some trouble developed in his aeroplane

c) it had no more fuel d) it was landing

2. The word “preening” means:

a) glooming b) grooming c) smoothing d) smoothing feathers with beak

3. The name of the poem and the poet is

a) A tiger in the zoo — John Berryman b) How to tell Wild Animals — Robin Klein
c) A Tiger in the zoo — Leslie Norris d) How to tell Wild Animals — E1 Bsor Ester
4. The oath taking ceremony took place at

a) Zenani’s home b) Amphitheater formed by Union Buildings

c) Mr de Klerk’s house d) UNO buildings

S. “To say that for destruction ice”.“Ice” here refers to
a) ice in the polar region  b) coldness in behaviour c) atomic bomb d) destruction

6. The Crow and Hemlock represent: a) Joy b) Sorrow c) Only bird and tree d) Winter season

7. Where did they get the egg, wine and brandy from?

a) From Mrs.Pumphrey b) From Mr.Herriot’s clinic

c) From Mr.Herriot’s friends d) From Tricki

8. How was the meal cooked by the narrator? a) very tasty b) horrible c) delicious  d) less tasty
9. Who was the man standing with a pistol? a) The author b) Ausable c) The hotel staff d) Max
10. What resulted in the sneeze?

a) The pollen from the flowers b) The dust in the house

c) The cigarette that was smoked by the lady d) Horaces allergic condition

11. How did he become invisible?

a) by some injection b) by taking some rare drugs c) by removing his coat d) by wearing a dress

12. To shed Crocodile tears means____.
a) to make a Crocodile weep  b) to weep with a crocodile c) to show or express a false/fake concern
d) All of the above
13. The difference between two numbers is 26 and one number is three times the other number. Find them.

a) 39,13 b) 30,10 c)40,14 d)30,40
14. If 3 is a solution of 3x? + (k-1)x+9=0, then k= ? a)11 b)-11 c)13 d)-13
15. nth term of a sequence is a+nb. Find as-az a) a b) b c) a+b d) 2b
16. If AABC ~ APQR, Perimeter of AABC= 20cm, Perimeter of APQR = 40cm and PR = 8cm, then the length of
AC is a) 8cm b) 6cm c) 4cm d) S5cm
17. The distance between the points (0, 3) and (-2,0) is ___. a) V14 b) V15 c) V13 d) V5
18. The maximum value of SinOis ____. a) 2 b) V3/2 c)1 d) 1/v2
19. The volumes of two spheres are in the ratio 27:8.The ratio of their curved surface is. a)9:4 b)4:9 ¢)3:2 d)2:3
20. The total surface area of a solid hemisphere of radius r is __.a) 4mrr? b) 2mr? c) %nr3 d) 3nr?
21. The mean of first n natural numbersis ___ . a) n;—l b) @ c) @ d) n?

22. The class with maximum frequency is___.a) median class b) modal class c) mean class d) average class
23.What is the probability that the first snowfall in Srinagar next winter will take place on Sunday?

1 2 3 6
24. The standard form of a quadratic equation is
a) ax+b=0, a#0  b) ax®>+bx+c=0 , a#0 c) ax3+bx?>+cx+d=0 , a#0 d) ax*+bx3+cx*+dx+e=0, a#0
25. Which of the following acid is present in sour milk?a)glycolic acid b)lactic acid c)citric acid d)tartaric acid
26. Antacids contain: a) weak base b) weak acid c) strong base d) strong acid
27. Which of the following gases is called ‘Marsh gas™? a) H» b) CH4 c) CoH4 d) CoH,
28. When vanaspati oil reacts with hydrogen then it convert into vanaspati ghee. In this process, catalyst
used is : a) Fe b) M, oV d) Ni
29. Which mirror is to be used to obtain parallel beam of light from a small bulb?
a) concave mirror b) convex mirror c¢) plane mirror d) none of these
30. What is the maximum resistance which can be made using five resistors each of 1/5 Q ?
a) 1/5Q b) 10Q c) 5Q d) 1Q

31. What should be the core of an electromagnet? a) soft iron b) hard iron c¢) rusted iron d) none of these
32. A current of 1A is drawn by a filament of an electric bulb. Numbers of electrons passing through a cross-
section of the filament in 16s would be roughly. a) 1020 b) 1016 c) 1018 d) 1023



33. Which of the following structure is involved in gaseous exchange in woody stem of a plant?

a) stomata b) Lenticel c) Guardcell d) Epidermis
34. Which of the following receptors is incorrectly paired with what is senses?
a) Chemoreceptors—chemicals b) Photoreceptors —pain c) Thermo receptors —heat

d) Olfactory receptors—sound
35. In mammals the testes lie in scrotal sacs due to
a) presence of urinary bladder b) long vas-deferens
c) presence of rectum d) requirement of low temperature for spermatogenesis
36. If two parents have the Genotypes AAxaa, the probability of having an aa genotype in the F, generation is
a) 25 percent b) 50 percent c) 75 percent d) None of the above
37. What were ‘canal colonies’ ? a) large colonies b) sea ports c¢) Large canals d) Irrigated areas
38. Which food travelled west from China to be called ‘Spaghetti’? a)Soya b)Groundnuts c)Potato d)Noodles
39. Why did Sri Lankan Tamils launch parties and struggle?
a) to adopt majoritarianism
b) to recognise sinhalas as official language
c) to recognise Tamil as an official language
d) to dominate other language
40. Which of the following is an example of holding together federation? a)Spain b)Australia c)India d) a&c
41. Bretton woods system was based on which types of rates? a)Fixed b)Floating c)Base d)Inflation
42. Which one of the following method is used to break up the force of wind?
a) Shelter belt b) Strip cropping c) Contour ploughing d) Terrace farming
43. Since money acts as an intermediate in the exchange process, it is called:

a) Value for money b) exchange value c) medium of exchange d) none of these
44. Who issues currency notes on behalf of the central government in India?
a)NABARD b)RBI ¢)SBI d)Worldbank
45. Who were the ‘Sanatanis™ a) Saints b) Dalits c) High-class Hindus d) None of these
46. What did the Rowlatt Act — 1919 presume?
a) Forced recruitment in the army b) Detention of political prisoners without trial
c) Forced manual labour d) Equal play for equal work
47. A debt-trap means .
a) inability to repay credit amount b) ability to pay credit amount
c) overspending till no money is left d) none of these
48. The chutney music is popular in ___. a) North America  b) South America c) India d) Japan
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